A& ol & AF 2 & Al A
20184 = =0l & 2 eral 3
SA 2l ZHn
g 200 Mol
2 210 24 HM2 =8
Ej 211 Moty O =& (cte &
SA-&-2-8-.-5 Ol &4 & Ol &Y Hns
= A 4,324,991 1,532,701 2,792,290
2 Atel 3=t 4,324,991 1,532,701 2,792,290
200 Al2l=+=¢l 139,000 250,000 A 111,000
210 ZYH M2 +¢ 34,000 20,000 14,000
211 A= 4,000 0 4,000
211-02 SFMHAL U= 4,000 0 4,000
OSsML A8 U= 4,000,000& 4,000
212 B2 +Y 30,000 20,000 10,000
212-05 NEAMEE 30,000 20,000 10,000
OHSAE (MY, 2, ERIANER 30,000,000 30,000
220 YAZANRA+L 105,000 230,000 A 125,000
223 h¥=HUHES 105,000 105,000 0
223-01 #¥ = 100,000 100,000 0
Ot & AR ALY 2et I = 100,000
223-05 MENZ 5,000 5,000 0
OJA & A4S ALY 218 B2 5,000
500 2x= 4,185,991 1,282,701 2,903,290
510 = 112X 38 3,706,593 1,116,381 2,590,212
511 2 12x3S 3,706,593 1,116,381 2,590,212
511-01 =212 %= 2,244,755 621,726 1,623,029
OXSg - MAXEY LANcIFE NIAAEY 145,000,000& 145,000
O(GIBIASI R I AN E] X & 83,669,000& 83,669
OJTHH O UHX XIS K& A 782,080,000& 782,080
OMES JtAAIE e 40,006,000& 40,006
OMTHHMUHX S=SAE XS 1,112,000,000& 1,112,000
OFASE NUHXNS XA 77,000,000& 77,000
OsdJl AHLUS as&™ 5,000,000 5,000
511-02 NSEHSEHANEEXS 1,440,638 469,655 970,983
ONSSsSH AelAe 106,501,000& 106,501
OL43E0 S~+27S=FUH 2E 974,000,000 974,000
OXSEANY SEOE ==ANEHE> 182,400,000 182,400
O(UHNAMEHIY LXelsE X 177,737,000& 177,737
511-03 Jl= 21,200 25,000 A 3,800
OR4 d8HII2 A5~ FHAA A2
1,800,000 1,800
odgd 2L FHAS NS 18,000,000& 18,000




A Xl H M
& 500 Ex3
2 510 218x328
& 511 218X 3S EEREED)
2H-2-2.8.5 Oll &F o & E Ol At Hns2
OGMKE 2 EfZedL FHIA XIS 1,400,000 1,400
20 Al - EHIBEXES 479,398 166,320 313,078
521 Al - SHIEXZ=S 479,398 166,320 313,078
521-01 Al - EHIE XSS 479,398 166,320 313,078
QLI SENRJEEH 2SI 4EH 212l 25,094,000& 25,094
Odgd MHELeEa Ml 9,000,000& 9,000
OXNZEZSsH LRelAmg 29,925,000 29,925
OO AIEIADIY LXtel&E ol X 17,774,000& 17,774
O(OIEN)AIEIEIIS AP o2l X & 10,757,000 10,757
O(GIENAIEI DI AlZ ZHIHIXI 18,966,000& 18,966
OS5s dSAME s8XA 120,000,000 120,000
OEXNEHIEHM =303 MHLEHAH X 8,000,000& 8,000
OFAE ZMUS 2,600,000 2,600
T SIIZLHR 83243 9,600,000& 9,600
OXMHIRFAE AR Q124 HI 4,000,000& 4,000
O UEX X=X A 175,000,000 175,000
O THAMUX X 2AS 26,000,000 26,000
ONMBIES JIAEYEE B AtY 18,682,000 18,682
ONMEIE EIIANEME AL 2,500,000& 2,500
OsZJl Motis g=s=d 1,500,000& 1,500




N = 0l & At & Ml A

PN e

=2

20188 & 20

T
ton

SH YRl EYY
o aXiel #5Y DB
A

e 22X 2K &a (e H)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Qx| M= 13,826, 145 5,587,228 8,238,917
= 2,244 755
Xl 1,440,638
Jl 21,200
= 479,398
Al 9,640,154
Qe HEN) NEOHE 2,593,991 1,613,689 980,302
= 145,000
& 34,094
Al 2,414,897
22X X sS4 32,900 349,480 A 316,580
LEXeid 1,160 317,740 A 316,580
201 et 9| 1,160 2,740 A 1,580
01 AP 2t 2] H| 560 1,940 A 1,380
OLAMNAUHEO G EHA ==
0,000& * 8% « 13| 560
02 2224 600 800 A 200
OLs=2Xs 2 NEgYEH=
300,000 * 20 A& 600
=20l 22X 2X &a 31,740 31,740 0
201 et Y| 240 240 0
01 AP 22| d| 240 240 0
o2 E&2H M 10,0002 * 2404 240
307 212t0| & 31,500 31,500 0
04 SIZ2ISHAAISH E X 31,500 31,500 0
OZ2Z2 A EXSA K& 31,500
-22 X2 & JIE A 10,000
-22X =3 13,000
- ALY Stots d% 5,500
-2 AE S AE 3,000
Jlsold 2HAIY 140,760 151,900 A 11,140
2ol FgeEL 2H 140,760 151,900 A 11,140
201 et d| 2,200 1,900 300
01 AFR 2t 2| bl 2,200 1,900 300
OFWA 28 &9 M
55,000& * 2000 * 23| 2,200
301 et A= 138,560 150,000 A 11,440
11 J|EtE A S 138,560 150,000 A 11,440
OFE WX 2| 750,000 * 409Y * 404 & 120,000
OFWHA & 116,000 = 40Y¥ * 44 & 18,560
aAxe H= 2,420,331 1,112,309 1,308,022




2AM: LXel ™
gl Fs I20tE
el Yxel HE (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 145,000
< 34,094
Al 2,241,237
2322 AMH 1,381,005 703,904 677,101
101 @14 Hl 1,376,805 700,004 676,801
04 JIZHZ22XREES 1,376,805 700,004 676,801
OZS322AY WA el 876,035
-J2= 48,9503 * 902 * 709 = 23| 616,770
-R352+Y
39,1603 = 242 * 70H « 23l 131,578
-eARE4Y
39,1603 = 5 * 7098 « 23| 27,412
-SHZ Yl 3,000& * 90 * 70¥ «* 23l 37,800
-4HEER 62,475
OX<SALE ALY ZHO A Q24| 500,770
-J22 48,9503 * 902 * 409 = 23| 352,440
-f38Ysg
39,1603 * 242 * 4098 « 23| 75,188
~oRRa g
39,1603 = 52 * 409 = 23| 15,664
- SHEH 3,000 = 90 * 409 « 23| 21,600
-4 2E= 35,878
201 et 2,200 1,900 300
01 At 22l 2,200 1,900 300
OFWHXEZE &= HZ
55,000& * 20014 = 23] 2,200
206 = Hl 2,000 2,000 0
01 M2 4l 2,000 2,000 0
O33Z22AME A= & HH7Y
1,000,000 = 23l 2,000
dY &g gdXtel AY 315,088 0 315,088
101 124 dl 315,088 0 315,088
4 D12t Z2XREE+ 315,088 0 315,088
O&FW X el 312,888
-JlE= 60,240& = 602 * 30¥ « 23l 216,864
-R38Y4¢
60,240& = 122 * 30¥ « 23l 43,373
PR
60,240& = 32 * 30¥ « 23l 10,844
-SHZdl 3,000& * 60 * 30 =+ 23l 10,800
-4EE2 31,007
OHOXDE B4 M
55,0003 * 20004 = 23] 2,200




A LXelE M

gl Fs I20tE
el Yxel HE (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NS - AHEEEE 2hel&EE NFAY 155,000 180,000 A25,000
= 145,000
Al 10,000
307 gl2tol & 155,000 180,000 A 25,000
= 145,000
Al 10,000
02 It HAHE L 155,000 180,000 A 25,000
OXg - ot EE dleldE NI AMY 155,000
= 145,000
Al 10,000
YR SEXNBHE 2 (THEX) 62,738 60,495 2,243
< 25,094
Al 37,644
101 @124 dl 62,738 60,495 2,243
= 25,094
Al 37,644
4 D12t ZE2XREES 62,738 60,495 2,243
OgXelagd el 62,738
-JlE= 2,109,600& » 128 » 2% 50,631
< 20,252
Al 30,379
—eRRI+Y
2,109,600 / 2092 * 8AIZ2+ » 16 * 2H 2,585
< 1,034
Al 1,551
—-4EE = 3,201,000& » 29H 6,402
< 2,561
Al 3,841
-0l 130,000& » 12& » 24 3,120
< 1,247
Al 1,873
Xl BEXN2HE 2 (XM ) 15,000 8,050 6,950
201 et 7,000 5,050 1,950
01 At 22l 7,000 5,050 1,950
OgielESeXNadE 2gl 7,000
-2l dHEF HAUALARS 1,800
- FHYggy 222 MA 3,000
—FOIRE AHAN M 900
—2helgsd ARESHI 1,300
203 YR =] 8,000 3,000 5,000
03 AIZ=XH =AY 8,000 3,000 5,000
OFgIad & giel&Es RF2H 8,000
NE=SNEAHAEH 24 2,000 2,000 0




2N ZRel

0
]

M 2 S 0E20tE
S UXel HE (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 2,000 2,000 0
01 AP 2t 2l Yl 2,000 2,000 0
OMRBESF2YYI 2,000
hediteldy 29 75,000 87,500 A 12,500
307 212t01 & 75,000 87,500 A 12,500
02 Q2B AMAIEE =X 75,000 87,500 A 12,500
OCNUstn thedXieldye 29 75,000
HAYE HEEHES R 18,000 30,000 A 12,000
= 9,000
Al 9,000
201 LEt2 Y| 18,000 30,000 A 12,000
& 9,000
Al 9,000
03 HAFS S HI 18,000 30,000 A 12,000
OZdE AIE HELHF 18,000
& 9,000
Al 9,000
2AX2IEHE N3 AL 24,000 40,360 AN 16,360
201 Bt A | 14,000 12,160 1,840
01 At 22l Yl 6,000 2,160 3,840
OEIAE M2 & oyl 6,000
03 S AIS H H 8,000 10,000 A 2,000
OHIOIE mini MsEE3 WA 8,000
202 O B 8,000 8,200 A 200
01 2L Y] 8,000 8,200 A 200
OLXeI&#E=E L2FX Ol 5,000
O2LXeldM= AIH=XAHE(2ZH) 3,000
301 dEtE A= 2,000 0 2,000
09 HAIAHI EA = 2,000 0 2,000
OHIOIE mini M3 WA 2,000
HE L2 N3 At 222,500 0 222,500
201 Bt A | 5,000 0 5,000
01 AP 22l Yl 5,000 0 5,000
Oox4dEdXIe A& ALY 5,000
307 QI2t01 ™ 217,500 0 217,500
02 QI2tAAMAIE E =X 87,500 0 87,500
O2=29g LY A AIS 87,500
04 QIZFSHAFAIRE 2 X 80,000 0 80,000
O&dd &Y HAEY 80,000
05 A2t E = 50,000 0 50,000




A LXelE M

M dltel ¥ NEHE
ool Axel BE (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OoddEdRel A48 At 50,000
HE Fg NE AY (ol dHUHLHSSAH) 150,000 0 150,000
301 L2 LS 150,000 0 150,000
11IIEEA S 150,000 0 150,000
OUBMAl &S QIE X2 ALY
1,500,000 * 100 150,000
ANE2sHd &4 M 1,223,831 563,979 659,852
= 83,669
Xl 284,238
= 77,422
Al 778,502
N3 s4 568,900 202,000 366,900
Xl 106,501
< 29,925
Al 432,474
NEEsH LA 213,000 202,000 11,000
Xl 106,501
< 29,925
Al 76,574
101 1244 dl 199,500 186, 100 13,400
Xl 99,751
= 29,925
Al 69,824
04 JIZHHZ2XEE S 199,500 186, 100 13,400
OXNEZSH LRt 0 A el 199,500
-J2= 37,6503 * 822 * 229 « 23| 135,842
Xl 67,921
< 20,376
Al 47,545
-22824Y
37,6503 = 172 * 2298 « 23| 28,163
Xl 14,082
= 4,204
Al 9,857
—eRRE4Y
37,6503 * 4 * 2298 « 23| 6,627
X 3,314
= 994
Al 2,319
- SHZdl 3,000 * 822 * 229 « 23| 10,824
Xl 5,412
< 1,624
Al 3,788
-4 EE 18,044
X 9,022
< 2,707
Al 6,315




2N
X ZH -
L= B

el

2 Xtel & 2
ASsSH &3 M2
ANe3sH |54

oS

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 2,500 3,900 A 1,400
Xl 1,250
Al 1,250
01 AP 22| H| 2,500 3,900 A 1,400
OsEE 49 50,000 * 2504 * 23| 2,500
N 1,250
Al 1,250
202 044l 2,000 2,000 0
N 1,000
Al 1,000
01 2L Y| 2,000 2,000 0
OXNgZ2=sH LXelArE =& bl 2,000
Xl 1,000
Al 1,000
206 M = Hl 9,000 10,000 A 1,000
Xl 4,500
Al 4,500
01 X2 H| 9,000 10,000 A 1,000
OXEZ2=H LACIAIE = =4I| 9,000
Xl 4,500
Al 4,500
NE2SH 243 A 355,900 0 355,900
201 LBt Y| 2,700 0 2,700
01 AP 22| d| 2,700 0 2,700
OAMNRE = 700
OMYEHIIANE M2 & oI 2,000
202 04 H| 3,200 0 3,200
01 2L I 3,200 0 3,200
OXNEZ2=HE SL2=F=& | 3,200
402 12t XHE0| ™ 350,000 0 350,000
01 It E AL EXR (M) 350,000 0 350,000
OZdE=sssH ZLHAL 350,000
AMSIHAH E43 AFE 654,931 361,979 292,952
= 83,669
Xl 177,737
o= 47,497
Al 346,028
AMSIED S LXCIEHE ALY 236,983 217,340 19,643
Xl 177,737
o= 17,774
Al 41,472
307 212t0| & 236,983 217,340 19,643
N 177,737
= 17,774




2N
X ZH -
L= B

el

2 Xtel & 2
ASsSH &3 M2
AAXHZH 43t

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 41,472
02 QIZFA AAIE E X 236,983 217,340 19,643
O(HHINAS &Y LXCIESAIYE IHH X 236,983
Xl 177,737
o= 17,774
Al 41,472
APSIE DY AP OREHl X & 119,527 88,203 31,324
= 83,669
=} 10,757
Al 25,101
307 QI2t0| ™ 119,527 88,203 31,324
= 83,669
= 10,757
Al 25,101
02 QI2tAMAIE E =X 119,527 88,203 31,324
O(WHIAIEI E DS AP EH XIS 119,527
= 83,669
& 10,757
Al 25,101
AMNSEIS AIEEHIH K& 37,932 18,000 19,932
= 18,966
Al 18,966
402 QI2H X =20l M 37,932 18,000 19,932
= 18,966
Al 18,966
02 CIZEXIE A EX (0| XM THL) 37,932 18,000 19,932
O(HHIAISI DS Al ZEHIH X 37,932
= 18,966
Al 18,966
AMSIEAM 4 K& 4,000 0 4,000
201 gEt24Hy| 2,000 0 2,000
01 AP 2t 2] d| 2,000 0 2,000
OAMZEEBM 222 HE 2,000
202 044l 2,000 0 2,000
01 2L I 2,000 0 2,000
OMSEAM =4 =& H| 2,000
2olAl A EF M JLAEH 248 & 2H 205,489 0 205,489
101 Q124 H| 92,639 0 92,639
02 JIEA 2 %= 92,639 0 92,639
OABIEHAMERIF oA (7T3AYE 19H) 32,909
OR9ed olAH (83 4aE 2H) 44 580
OMIEHANMANIALAHZK A28 L HAIIE
AbH| 15,150
201 gBt2dd| 72,850 0 72,850




A LXelE M

g NESSH 28 M2
SRl AEZH 243 A Y (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 AFR2t2ltl 22,850 0 22,850
OAEEE ¢ JIEt =34l 500,000& * 9& 4,500
OSA &Xt &z 150,000& * 9& 1,350
Odle 223 7,000
OEE=SHH 10,000
02 =224l 25,500 0 25,500
OYe)l Xl 2,000
OR8Ee=s % JIEt 332 200,000& 93 1,800
O&II+=&Hl 1,000
OFAUY 9 1,500,000& = 1& « 9F 13,500
Os3e= 800,000& =+ 93 7,200
03 &Ar2 I 24,500 0 24,500
OHdE A4 5,000
OAME & A H X & 5,000
OQusdA==g 500,000& = 93l 4,500
OAr2l#D1g & Ot 22 10,000
405 XHoHF S HI 40,000 0 40,000
01 AL ESFH S 40,000 0 40,000
OdH SZ(HOIS, 29X 5) FLH 40,000
ABIE DI &2 boom-up AFS 51,000 0 51,000
201 et 1,000 0 1,000
01 ArR2t2lHl 1,000 0 1,000
OdA#E =& 100,000& * 10€& 1,000
307 glztol & 50,000 0 50,000
02 I HAMAEE 50,000 0 50,000
OMIIHIIE &S boom-up ALY EHF XIS
10,000,000& = 501 &€ X 50,000
XN &3 5,676,189 2,197,080 3,479,109
Xl 1,156,400
=) 140,200
Al 4,379,589
dSANE 2 U X 779,280 22,500 756,780
= 120,000
Al 659,280
HEANE 28 10,200 7,500 2,700
201 Lt 6,700 4,000 2,700
01 AP 22l 6,700 4,000 2,700
OdSAZE 0|8 82 &= HNA
55,000 * 2002 = 23] 2,200
OHSAE 08 822 A
1502 * 4,00004 = 23] 1,200




SN LRelHYD
o NAYH a3

e MEAE ZFY SUig XNE (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ONEANE 2524 EAH EE2 ME
100 * 4,0000 * 23| 800
OREANE 245 ey 248
250,000& = 1€ = 103 2,500
202 o4 H| 1,500 1,500 0
01 2L I 1,500 1,500 0
OFEANZE &8s 2F=80H] 1,500
203 €2 F&d| 2,000 2,000 0
03 AIZH =& 2 F XY 2,000 2,000 0
OFSAE OHAHE AIHFAN HRF=EH| 2,000
HEAZ OIHE X 15,000 15,000 0]
307 QI2t0| ™ 15,000 15,000 0
02 QI2tAMAIE E X 15,000 15,000 0
OFSAE 243 XNE A
3,000,000 * 5JH Al & 15,000
222 A 4 XN 450,000 0 450,000
308 XAXIGHHM SO0l & 450,000 0 450,000
10 B 2SHUSE AN E A 450,000 0 450,000
OSHANE SIIHZTHAYE SHAMY 450,000
Egt BSANE 4 XNEAL 300,000 0 300,000
o= 120,000
Al 180,000
201 et d]| 69,000 0 69,000
o= 27,600
Al 41,400
01 AP 2t 2| bl 14,000 0 14,000
O&XA EFIAZE B e 4,000
& 1,600
Al 2,400
O&H ESANE 2223 HE
5,000& * 2= * 1,0007H 10,000
& 4,000
Al 6,000
03 Al HH| 55,000 0 55,000
O&H ESAIE THAE & 232 Al
13,750,000 = 43| 55,000
= 22,000
Al 33,000
401 AlEHIZL £ 0HY| 231,000 0 231,000
= 92,400
Al 138,600
01 Al& H| 231,000 0 231,000
O&H EAIE 2HEHAEH| A A& A I 15,000
= 6,000




SN LRelHYD
o NAYH a3

el dSAE B U NE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 9,000
O&Y S3AIE HE 28 FHHl S At 216,000
< 86,400
Al 129,600
ANZZIHA X3 ALY 4,080 0 4,080
307 glz2tol & 4,080 0 4,080
02 HAHFHAANGEEE 4,080 0 4,080
ONdSAE H4UXXAS2S AL
340,000 = 1¥ = 128 4,080
HEAME AL Sls XA 641,660 372,874 268,786
Xl 182,400
Al 459,260
HEANE AL U XA 304,000 318,334 A 14,334
Xl 182,400
Al 121,600
401 A& HIZ 201 I 304,000 318,334 A 14,334
X 182,400
Al 121,600
01 A& HI 304,000 316,334 N 12,334
OXIAY SEMNE “FAE HESSA 304,000
Xl 182,400
Al 121,600
HEANZE A |X 2l 337,660 54,540 283,120
201 Let2d] 18,660 18,540 120
01 At 22l 7,260 7,260 0
OIJttEU e otdEA M2t U (XS
AE) 70,000& * 3% * BI04 1,260
OFEANR A8(FHI)OAE BA+42
100,000& * 3H A = 23] 600
OSHANEBLSHIOE AL AEKRA 22l
1,000,000 = 40 A 4,000
OXYSHIOE Ma==x A
700,000& * 1H = 23] 1,400
02 2324l 11,400 11,280 120
OESAE HIletd &g 2el
100,000& » 444 « 12& 4,800
ONZBHME AS(FHMEX) Ast2el
200,000& * 1A * 128 2,400
ONESHOLE 520 RAE=
110,000& * 12& 1,320
OIS HOIE & MalAE Eatatel
120,000 » 20 A& « 12& 2,880
207 RO 8,000 0 8,000
01 H3 39| 8,000 0 8,000




SN LRelHYD
o (AR 23

o MEANE AL SUHE XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORENE 2SNA Feie 08 29
1,000,000& * 8JH £ 8,000
401 Al HIZ 201 I 311,000 36,000 275,000
01 A& HI 311,000 36,000 275,000
OFEANE EFAE2 HEAY
6,000,000 * 604 36,000
OXUSEESANE ARE2 EXAE
550,000& = 500M =0IH 275,000
SHaE =4 145,670 144,840 830
< 8,000
Al 137,670
L2303 HLXNA(ZHIEX) 48,000 48,000 0
< 8,000
Al 40,000
307 21201 A 48,000 48,000 0
< 8,000
Al 40,000
02 It S AIHE L 48,000 48,000 0
OEXNEYM =303 MHeEHHAH X2
2,400,000& = 2000 & X 48,000
< 8,000
Al 40,000
L2303 N XA (XM ) 45,000 45,000 0
307 21201 A 45,000 45,000 0
02 LB AAHEX 45,000 45,000 0
OANXESM =303 MH&HAH X2
(SOCHE YA 2000 2 Xl) 45,000
=30z B2 WA 49,670 48,840 830
201 Let2d] 19,730 19,260 470
01 At 22l 3,750 3,600 150
O30 2 sSESHH
1,000& » 2,000% 2,000
OZ0S HAl.EM2 22 RAES
350,000& * 504 1,750
03 &Ar2 I 15,980 15,660 320
OXM14sl oA SHSUHE il 13,980
-dA2 22 ¥ RHAE SR 2,400
-4 e ez 20,0003 = 80 1,600
- &a4sdg "Hols:s 7Y 600
—EEX AMRAY =Y 300,000& * 8Y 2,400
—gaa egEAH M 4,000& = 5005 2,000
-&F I 700
—&F WO 7Y 8,000& * 40X 320
-0 2 HU7Y 1,000




2AM: LXel ™
g NSFH 2435
Sl BoIMY S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—EANERd A
8,000& = 8H « 15¢ 960
- Z30ME SO0tY A
250,000& = 401 » 2« 2,000
OZHEHRNE DS SAcg
500,000& = 29H 1,000
OZ3ME2ZH WM X =
2,500& * 4002 1,000
203 YR =&l 3,000 3,000 0
03 AIMF=XH R =AH| 3,000 3,000 0
OS4+ZHE BRHH AXZANLSEAY| 3,000
301 et d = 6,860 6,500 360
09 AL HI B &S 6,860 6,500 360
OUeeI=2z0SUHAE IR E432
100,000& * 209 2,000
OZ&EE ZUEUA IR B3
27,000& * 90Y « 23] 4,860
307 glz2t0l & 20,080 20,080 0
02 QIZtE M AHE X 16,500 16,500 0
Od&Zu=It X0 X&
580,000& » 259 14,500
Of4 M 20 =& FIHXE 2,000
04 DIZFHALALSE E X 3,580 3,580 0
OZHSHASE HEXA 2,500
OZMZSEAIS MHEXE 1,080
SEMA TR AIHF AlY 3,000 3,000 0
201 Let24E] 3,000 3,000 0
01 At 22l I 3,000 3,000 0
OBESHATR A 22 L 222 N
300& = 5,00001 = 23| 3,000
AaZ0 FHH A F A4MEHA 3,992,190 1,541,680 2,450,510
Xl 974,000
< 2,600
Al 3,015,590
LaZe XA 1,884,700 1,529,500 355,200
201 Let24E] 700 13,700 A 13,000
01 At 22l 700 13,700 A 13,000
Oa2a32 SHNSXNE HAARE &
70,0002 = 5% « 23| 700
202 O4dl 4,000 2,800 1,200
01 = LH 4 1l 4,000 2,800 1,200
OLHZBUXNEE PRFE Ol 4,000
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